<opJp,> (%)

Ratio

...............................

+—

>

1

2 3
TPl[Z())T (PCA t%obeamlinélf)
[—=— DQM_original_stepZ_tibar-phasel-newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquarel5_step2_tt ar-ﬂhasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquare5_step2_ttbar-p

ar

o

=

oo
N

1

asel-newgeom_test

! :#:1:1:1:1:

1

0.8

-u-# :
B
® .
- gmignne g e
. . +
: : 4
....... T
e A gt -+
....... e
-
J E
113 Lt
T I
......... T +|

[y
o
I8

1

I : 2 3
TPlpg)T (PCA tloobeamlin:eL)O

—

100

...........................

..............................

80F-
60F-
40f-
205— e
o 1t
—20E-1
~40F-
-60F- 1
-80F
100F—
1
0.5 — T

11y . '
+
T 5
+ <+
o+

S




	Contents
	Page 1


